GROOMER

Lip Broom 400

Lip Broom

Model LB-400

15 16

KEY | PART NUMBER | DESCRIPTION QTY || KEY | PART NUMBER | DESCRIPTION QTY
1 LB400-2 Link, Latch 1 15 Ftg, Hyd 2
2 LB400-2-1 Handle 1 16 Quick Disc 2
3 LB400-1 Hitch-Arm Connector
4 Bolt, 1/2" x 4-1/4" 1 17 | LB400-4 Motor 1
5 Washer, 1/2" 2 18 | LB400-3 Motor Bracket 1
6 Nut, 1/2" Nylock 1 19 | LB400-5 Spline Collar Plate
& Nut, 1/2" Nylock 1 20 | LB400-6 Poly Brush
8 Washer, 1/2" 2 21 | LB400-11 Wire Brush
9 Compression 1 §
Spring 1
10 Bolt, 1/2" x 4-1/2" 1 23 | LB400-9 Cartpath Edger
11 Nut, 3/8" Nylock 2 24 | LB400-1-2 Extension Arm 1
12 Washer, 3/8" 4 25 | LB400-1-3 Adjustment Arm 1
13 Bolt, 3/8" x 3-1/4" 2
14 LB400-8 Hose 2
JR Services
31515 State Hwy 13 1-800-298-1707

New Prague, MN 56071 www.RahnGroomer.com



